Buyer (Importer)

# CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: **LA-COO-67583-692640dc6e735** 

VERIFY.FTGS.US Date: November 25, 2025

Port of Loading Transport Type Seller (Exporter) Los Angeles Shy Creation, INC 631 South Olive Street **Destination Country Destination Port** Los Angeles Hong Kong Hong Kong CA USA Exporting Carrier **Export Date** Consignee SUCRE JEWELRY DESIGN LTD Import Permit Number Bill of Lading / AWB UNITS 4&5, 10/F, GUARDFORCE CENTRE NO.3 HOK YUEN STREET EAST HUNGHOM, KOWLOON Forwarding Agent Owner or Agent Hong Kong

Remarks



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) Jewelry Casting 146.91 **United States** H.S.Code: 7113.19 =====end of products======



CHAMBERS

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

SHY CREATION INC 631 S Olive St #900 Los Angeles, CA 90014 Tel: 213-623-8900 Fax: 213-623-0860 www.shycreation.com info@shycreation.com

### Billing Address:

SUCRE JEWELRY DESIGN LTD UNITS 4&5, 10/F, GUARDFORCE CENTRE NO.3 HOK YUEN STREET EAST HUNGHOM, KOWLOON, HONG KONG PHONE#: 852-2311-1880

## SHY CREATION INC.

### **VENDOR JOB**

Job #:	21611
Vendor #:	SC55
Job Date:	11/25/2025
Request Date:	11/25/2025

#### Shipping Address:

SUCRE JEWELRY DESIGN LTD UNITS 4&5, 10/F, GUARDFORCE CENTRE NO.3 HOK YUEN STREET EAST HUNGHOM, KOWLOON, HONG KONG PHONE#: 852-2311-1880

Pic	PO #	Vendor Model No	Description	Qty	Gold Weight	Total Weight	Total Value
	SHY-1000080910	SB62116U104	14K CASTING PART	30.00	0.62	18.60	\$ 1,412.89
A STATE OF THE STA	SHY-1000080910	SN22826	14K CASTING PART	20.00	1.34	26.79	\$ 2,035.24
300000000000000000000000000000000000000	SHY-1000080910	SN23641	14K CASTING PART	10.00	1.37	13.71	\$ 1,041.85
COLORO CO	SHY-1000080910	SN31821U104	14K CASTING PART	20.00	1.35	27.01	\$ 2,051.65
00000000	SHY-1000080910	SN59901DU104	14K CASTING PART	10.00	1.33	13.31	\$ 1,011.16
00000000	SHY-1000080910	SN59901PU104	14K CASTING PART	3.00	1.34	4.02	\$ 305.37
000000	SHY-1000080983	SN59901MU104	14K CASTING PART	12.00	1.31	15.77	\$ 1,198.29
	SHY-1000081010	SN45567L160	14K CASTING PART	1.00	5.96	5.96	\$ 452.84
*** The state of t	SHY-1000081012	SN57565U104	14K CASTING PART	2.00	1.34	2.67	\$ 202.90
NEEL CHAMBER S	SHY-1000081012	SN28946U104	14K CASTING PART	1.00	1.37	1.37	\$ 103.90

	SHY-1000081012	SN28583U104	14K CASTING PART	1.00	1.33	1.33	\$ 101.1	3
Octoboood States	SHY-1000081012	SN62030U104	14K CASTING PART	2.00	1.31	2.62	\$ 199.2	5
	SHY-1000081012	SB62116U104	14K CASTING PART	2.00	0.37	0.74	\$ 55.8	5
201-04-02-02-02-02-02-02-02-02-02-02-02-02-02-	SHY-1000081012	SN50107U104	14K CASTING PART	1.00	1.26	1.26	\$ 95.7	2
	SHY-1000081012	SE62035U104	14K CASTING PART	1.00	0.63	0.63	\$ 48.1	0
·3/1 14.3	SHY-1000081013	SE28191U104	14K CASTING PART	1.00	0.60	0.60	\$ 45.5	8
10000000000000000000000000000000000000	SHY-1000081014	WN57858XU104	14K CASTING PART	1.00	1.35	1.35	\$ 102.6	8
0 03	SHY-1000081018	SE50521U104	14K CASTING PART	1.00	0.58	0.58	\$ 44.0	6
30000000000000000000000000000000000000	SHY-1000081018	SN50521U104	14K CASTING PART	1.00	1.35	1.35	\$ 102.5	, 2025
Constitution of the second of	SHY-1000081018	SN32985U104	14K CASTING PART	1.00	1.36	1.36	\$ 103.0	_
000000000000000000000000000000000000000	SHY-1000081018	SN53631U104	14K CASTING PART	1.00	1.34	1.34	\$ 101.6	735
0.000,000,000,000,000,000	SHY-1000081018	SN53631U104	14K CASTING PART	1.00	1.34	1.34	\$ 101.6	264
000000000000000000000000000000000000000	SHY-1000081018	SN57902U104	14K CASTING PART	1.00	1.25	1.25	\$ 94.7	-69
USA USA		<u> </u>	Page 2 of 3					LA-C00-6

0	SHY-1000081018	SB57612U104	14K CASTING PART	1.00	1.09	1.09	\$ 82.93
M. M	SHY-1000081005	SB42721MU104	14K CASTING PART	1.00	0.87	0.87	\$ 65.97
TOTAL				126.00		146.91	\$ 11,160.75

×	Authorized Signature
x	Veronica Schauer-West

